R1.803

1.500

1

11R BALL

# 3661

35E ELEVATOR PLUMBIZER SUPPLIED HARDWARE
HARDWARE MEETS OR EXCEEDS STATE SPECIFICATIONS

(1) 11E PLUMBIZER CASTING

(1) 11R BALL CASTING

(4) 3/8" X 2 1/2" BOLT

(8) 3/8” FLAT WASHER

(4) 3/8” SPRING LOCK WASHER

(4) 3/8" NUT

(2) 25PN 1 1/2" PIPE THREAD LOCK NUT
(2) 25MB 2” ID 10 Ga. MACHINE BUSHING (FLAT WASHER)
APPLY ANTI-SEIZE LUBRICANT TO ALL THREADED SURFACES.

NOT INCLUDED

(2) 11F SPACER REQUIRED FOR 4-5 SECTION PLASTIC
SIGNALS, OR HORZONTAL MOUNTING, (SEE DWG. 5A)

(1) 15PC PEDISTRIAN CAP FOR PEDESTRIAN
SIGNAL MOUNTING (SEE DWG. 9.1.0.)

11R BALL

| \\,WW@
} +E jf%
P //kﬁ
35E TOP VIEW
1 3/8” 9 1/2"

5 3/4"
DIA.

—=—FOUR 7/16" DIA. HOLES
EQUALLY SPACED ON A

4 3/4" DA BOLT CIRCLE.

11R BALL

t1/z7prock vt LT T ]

1 1/2” FLAT WASHER °

nnnn\uf

72 PROTRUSIONS ———
O-ZH_' \ ]
* : }= A _’_
1 1.1/2”
19/32" NOM.‘ ¢
I
! ! |
11 /32='_f o T = v - —
. I
72 PROTRUSIONS ———

N1/4” MIN.

11E SECTION AA

(RECESSED SIDE)

‘WYY\Y\\H\\
N
J
o)

1 1/2" FLAT WASHER

ti/2nprock T [ T ]

35E ELEVATOR PLUMB'ZER— (ALL CASTINGS AND PARTS ASSEMBLY)

— > —

NOT TO SCALE
F REY 35EELEVATOR PLUMBIZER | DATE|pwa.no. | Rev,
N e ng o STRAIGHT MOUNT

Patent Pending

Phone: 952-467-4402

Made in USA

1.01 | 1




